
Location: New Jersey, USA
Date of completion: 2016
Area: 6 724 m2

Shop Drawings: 264 pcs @ ARCH D
Cut Sheets: XX pcs
Contractor: European Window Systems (EWS)

RIVER ROAD
Vijay Kale Architects PC

Scope of Services:

Shop drawings & Workshop drawings for:
Windows
Doors
Window walls
Railings

46 1516 "

[1191 mm]

40 12 "

[1028 mm]5 316 "

 [131 mm]

51 1116 "[1313 mm]
5 18 "

[130 mm]

511516 "[1319 mm]
511516"

[1319 mm] 511516"
[1319 mm] 511516"

[1319 mm]
47 1

16"
[1196 mm]

511516"

[1319 mm]

40
"

[10
16
 m

m]

46
15 16
"

[11
91
 m

m]

40
1 2"

[10
28

 m
m]

51 8"
 [
13
1 
mm

]

51
11
16
"

[1313 
mm]

5116
"

 [129
 mm]

511
5
16
"

[1319 
mm]

511
5
16"

[1319 m
m]

511516"

[1319 mm]511516"

[1319 mm]
47 1

16"

[1196 mm]

673-9/16" PART B
[17109 mm]

40"
[1016 mm]

132 916 "

[3367 mm]

12 "
 [13 mm]

132 916 "
[3367 mm]

12 "

[13 mm]

WW
3B

WW
3A

WW
3AX

Scale: 3/8" = 1'-0"
WINDOW WALL FACADE 6 - HORIZONTAL SECTION - 3RD FLOOR1

1
441.00

1
443.00

1
445.01

1
445.03

1
445.02

1
206.00

WW
3AX

WW
3D

WW
3A

WW
3A

WW
3D

WW
3AX

WW
3AX

WW
3C

WW
3A

81 2" [2
16
 m

m]
10
91 2"

 M
.O
.

[2
78

1 
mm

]

81 2" [2
16
 m

m]
10
91 2"

 M
.O
.

[2
78

1 
mm

]

81 2" [2
16
 m

m]
10
91 2"

 M
.O
.

[2
78

1 
mm

]

81 2" [2
16
 m

m]
10
91 2"

 M
.O
.

[2
78

1 
mm

]

PTAC PTAC PTAC

PTAC PTAC PTAC

PTAC PTAC PTAC

PTAC PTAC PTAC

5 8"
 J

OI
NT

[16
 m

m]
10
83 8"

[2
75

3 
mm

]

1 2"
 J

OI
NT

 [
13
 m

m]

5 8"
 J

OI
NT

[16
 m

m]
10
83 8"

[2
75

3 
mm

]

1 2"
 J

OI
NT

 [
13
 m

m]

5 8"
 J

OI
NT

[16
 m

m]
10
83 8"

[2
75

3 
mm

]

1 2"
 J

OI
NT

 [
13
 m

m]

5 8"
 J

OI
NT

[16
 m

m]
10
83 8"

[2
75

3 
mm

]

1 2"
 J

OI
NT

 [
13
 m

m]

13212" CL TO END
 [3366 mm]

698" CL TO CL
 [17729 mm]

13212" WW3AX
 [3366 mm]

1
2" JOINT
 [13 mm]

963" OVERALL
[24460 mm]

1
2" JOINT
 [13 mm]

SPANDREL

SPANDREL

SPANDREL

SPANDREL

SPANDREL

SPANDREL

SPANDREL

SPANDREL

SPANDREL

CO
RN

ER
 L

IN
E

15458" CL TO CL
 [3927 mm]

11716" CL TO CL
 [290 mm]

26014" CL TO CL

[6611 mm]

11716" CL TO CL
 [290 mm]

26014" CL TO CL

[6611 mm]

2ND FLOOR
T.O.S. +9'-4"

3RD FLOOR
T.O.S. +22'-10"

4TH FLOOR
T.O.S. +32'-8"

5TH FLOOR
T.O.S. +42'-6"

6TH FLOOR
T.O.S. +52'-4"

7TH FLOOR
T.O.S. +62'-2"

8TH FLOOR
T.O.S. +72'-0"

9TH FLOOR
T.O.S. +81'-10"

10TH FLOOR
T.O.S. +91'-8"

11TH FLOOR
T.O.S. +101'-6"

12TH FLOOR
T.O.S. +111'-8"

MAIN ROOF
T.O.S. +121'-10"

PENTHOUSE ROOF
T.O.S. +132'-0"

PTAC

PTAC

PTAC

PTAC

SPANDREL

SPANDREL

SPANDREL

SPANDREL

SPANDREL

SPANDREL

CO
RN

ER
 L

IN
E

CO
RN

ER
 L

IN
E

CO
RN

ER
 L

IN
E

CO
RN

ER
 L

IN
E

CO
RN

ER
 L

IN
E

2
524.01

2
524.00

2
524.01

2
524.00

2
524.01

2
524.00

2
524.01

2
524.00

1
525.00

2
525.00

2
524.01

2
524.00

1
533.00

2
533.00

1
533.00

2
533.00

1
525.00

2
525.00

2
561.00

1
562.00

1
561.00

2
561.00

1
562.00

1
561.00

2
561.00

1
562.00

1
561.00

2
561.00

1
562.00

1
561.00

2
562.00

1
564.00

2
564.00

2
563.00

1
570.00

2
570.00

2
561.00

1
562.00

1
561.00

2
562.00

1
564.00

2
564.00

" GL DIM

" GL DIM

461516" GL DIM

[1193 mm]

26
1 2"
 G

L 
DI
M

[6
73

 m
m]

73
5 8"

 G
L 

DI
M

[18
69

 m
m]

461516" GL DIM

[1193 mm]

461516" GL DIM

[1193 mm]

26
1 2"
 G

L 
DI
M

[6
73

 m
m]

73
5 8"

 G
L 

DI
M

[18
69

 m
m]

461516" GL DIM

[1193 mm]

461516" GL DIM

[1193 mm]

26
1 2"
 G

L 
DI
M

[6
73

 m
m]

73
5 8"

 G
L 

DI
M

[18
69

 m
m]

461516" GL DIM

[1193 mm]

461516" GL DIM

[1193 mm]

26
1 2"
 G

L 
DI
M

[6
73

 m
m]

73
5 8"

 G
L 

DI
M

[18
69

 m
m]

461516" GL DIM
 [1193 mm]

461516" GL DIM
 [1193 mm]

26
1 2"
 G

L 
DI
M

[6
73

 m
m]

73
5 8"

 G
L 

DI
M

[18
70

 m
m]

461516" GL DIM
 [1193 mm]

461516" GL DIM

[1193 mm]

26
1 2"
 G

L 
DI
M

[6
73

 m
m]

73
5 8"

 G
L 

DI
M

[18
69

 m
m]

461516" GL DIM

[1193 mm]

4114" GL DIM

[1047 mm]

4338" LVRS DIM

[1102 mm]

27
1 8"
 L

VR
S 

DI
M

[6
89

 m
m]

72
3 4"

 G
L 

DI
M

[18
47

 m
m]

41316" GL DIM

[1047 mm]

4338" LVRS DIM

[1102 mm]

27
1 8"
 L

VR
S 

DI
M

[6
89

 m
m]

72
3 4"

 G
L 

DI
M

[18
47

 m
m]

4558" D.L.O.

[1159 mm]

258"
 [66 mm]

118"
 [29 mm]258"

 [66 mm]" D.L.O.

11516" MULLION
 [50 mm]

50"
[1269 mm]

11516" MULLION
 [50 mm] 501316" UNIT

[1291 mm]

" UNIT
11516" MULLION

 [50 mm]

50"
[1269 mm]

11516" MULLION
 [50 mm]

50"
[1269 mm]

11516" MULLION
 [50 mm]

50"
[1269 mm]

11516" MULLION
 [50 mm]

4518"

[1146 mm]
11516" MULLION

 [50 mm]

50"
[1269 mm]

11516" MULLION
 [50 mm]

4518"

[1146 mm]
1

50"
[1269 mm]

4558" D.L.O.

[1159 mm]

4558" D.L.O.

[1159 mm]

4558" D.L.O.

[1159 mm]

40916" D.L.O.

[1030 mm]

4558" D.L.O.

[1159 mm]

1"
 [26 mm]

40916" D.L.O.

[1030 mm]

4558" D.L.O.

[1159 mm]

" TO CL 511516" CL TO CL

[1319 mm]

511516" CL TO CL

[1319 mm]

511516" CL TO CL

[1319 mm]

5178" CL TO CL

[1318 mm]

5178" CL TO CL

[1318 mm]

4718" CL TO CL

[1197 mm]

511516" CL TO CL

[1319 mm]

4718" CL TO CL

[1198 mm]

501316" UNIT

[1291 mm]

501316" UNIT

[1291 mm]

501316" UNIT

[1291 mm]

451516" UNIT

[1168 mm]

1
8" OVERLAP

 [3 mm]

1
8" OVERLAP

 [3 mm]

501316" UNIT

[1291 mm]

1
8" OVERLAP

 [3 mm]

451516" UNIT

[1168 mm]

1
8" OVERLAP

 [3 mm]

501316" UNIT

[1291 mm]

" RECEPTION PROFILE - CL TO CL 511516" RECEPTION PROFILE - CL TO CL

[1319 mm]

511516" RECEPTION PROFILE - CL TO CL
 [1319 mm]

511516" RECEPTION PROFILE - CL TO CL

[1319 mm]

511516" RECEPTION PROFILE - CL TO CL

[1319 mm]

4718" RECEPTION PROFILE - CL TO CL

[1197 mm]

5178" RECEPTION PROFILE - CL TO CL

[1318 mm]

4718" RECEPTION PROFILE - CL TO CL
 [1197 mm]

511516" RECEPTION PROFILE - CL TO CL

[1319 mm]

48
" 
CL

 H
AN

DL
E 

FR
OM

 F
FL

 [
12
19
 m

m]

47
1 2"
 C

L 
HA

ND
LE

 F
RO

M 
ED

GE
 O

F 
FR

AM
E

 [
12
07

 m
m]

EXTERIOR
VIEW

48
" 
CL

 H
AN

DL
E 

FR
OM

 F
FL

 [
12
19
 m

m]

47
1 2"
 C

L 
HA

ND
LE

 F
RO

M 
ED

GE
 O

F 
FR

AM
E

 [
12
07

 m
m]

EXTERIOR
VIEW

72
1 4"

 D
.L
.O
.

[18
36

 m
m]

31 2" [8
8 

mm
]

25
1 8"
 D

.L
.O
.

[6
39

 m
m]

25 8"
 [
66

 m
m]

1 16
"

 [
1 
mm

]

10
65 8"

 U
NI
T

[2
70

9 
mm

]

11
1 16
" 
RE

CE
PT

IO
N 

PR
OF

IL
E

 [
43

 m
m]

258"
 [66 mm]

118"
 [29 mm]258"

 [66 mm]
258"

 [66 mm]

118"
 [29 mm]258"

 [66 mm]
258"

 [66 mm]

118"
 [29 mm]258"

 [66 mm]
258"

 [66 mm]

1"
 [26 mm]258"

 [66 mm]
258"

 [66 mm]

114"
 [31 mm]258"

 [66 mm]
258"

 [66 mm]

114"
 [31 mm]258"

 [66 mm]
258"

 [66 mm]

1 116"
 [27 mm]258"

 [66 mm]

118"
 [29 mm]258"

 [66 mm]

GL2
WW3C-3

GL2-T
WW3C-1

GL2
WW3C-3

GL2-T
WW3C-1

GL2
WW3C-3

GL2-T
WW3C-1

GL2
WW3C-3

GL2-T
WW3C-1

GL2
WW3C-3

GL2-T
WW3C-1

LUV1
WW3C-1

GL2
WW3C-4

GL2-SP
WW3C-5

GL2-SP
WW3C-2

GL2
WW3C-4

LUV1
WW3C-1

GL2
WW3C-3

GL2-T
WW3C-1

5
16"

 [8 mm]
118"

[29 mm]

1
8"

 [3 mm]

1"
[26 mm]

7
8"

[22 mm]

112"

[38 mm]

5
16"

 [8 mm]

712"

[191 mm]

31 2"

[8
8 

mm
]

1 8"
 S

AS
H 

OV
ER

LA
P

 [
3 

mm
] D.
L.
O.

LO
UV

ER
S 

OP
EN

IN
G

2
1 16
"

[5
3 

mm
]

D.
L.
O.

11 2"

[3
8 

mm
]

7 16
"

[10
 m

m]

11 16
" 
LO

UV
ER

 O
VE

RL
AP

 [
18
 m

m]

5
16"

 [9 mm]

5
16"

 [9 mm]43
16"

[106 mm]

412"

[114 mm]

 BATT INSULATION B. O.

3
8"

[9 mm]

GASKET - ET 130400.00

GLAZING BEAD - E 40606

GASKET - ET 130176.00

GASKET - ET 130421.00

HORIZONTAL MULLION - E 45360

GASKET - ET 130400.00

GLAZING UNIT 1" (26mm)

PERIMETER EXPAND THERMAL TAPE
(2) GLAZING PAD 3/16" (5mm)

THERMAL BREAK

SASH - E 45260

ADDITIONAL PROFILE - E 23600

GASKET - ET 130131.00

PERIMETER SEALANT

WOOD STOOL B.O.

GLAZING BEAD - E 5311

6" STEEL STUDS 16 GA B.O.

GASKET - ET 130176.00

RIGID INSULATION

THERMAL INSULATION SPACER 80 177

SHEET METAL ALUMINUM 1/32" (1 mm)

ALUMINUM ∅8x1
TUBE

6" STEEL STUDS 16 GA B.O.

PTAC SLEEVE B.O.

SHEET METAL ALUMINUM 1/16" (1.5 mm)

ALUMINUM PRESS CORNER

DIN 6924 M8
THIN NUT

ALUMINUM LOUVER FRAME

GLAZING PAD 3/16" (5mm)

GASKET - ET 130411.00

238"

[61 mm]

5
8"

[16 mm]

3"
[76 mm]

4"
[102 mm]

MA
SO

NR
Y 

OP
EN

IN
G

5 8"

[16
 m

m]
FR

AM
E 

DI
ME

NS
IO
N

4
5 16
"

[11
0 

mm
]

1 16
" 
LO

UV
ER

 O
VE

RL
AP

 [
2 

mm
]

LO
UV

ER
S 

OP
EN

IN
G

CONCRETE SLAB B. O.

3
16"

 [4 mm]

5
16"

 [9 mm]21116"

[68 mm]

11516"

[50 mm]

212"

[64 mm]

7 16
"

[12
 m

m]1 8"
 [
2 

mm
]

1 16
"

 [
2 

mm
]

5 8"

[16
 m

m]

11 4"

[3
2 

mm
]

7 8"

[2
2 

mm
]

13 8"

[3
4 

mm
]

71116"

[195 mm]

5 8"

[16
 m

m]

 BATT INSULATION B. O.

AL
IG
N

PTAC sleeve B.O.

Reception Profile

Additional Profile

Leg Profile

DIN 6912 M8x25
Cheese head screw

DIN 7504 ST3.5x13-O-Z
Self drilling screw

GASKET - ET 130176.00

GLAZING BEAD - E 5311

THERMAL BREAK

GASKET - ET 130176.00

DIN 976-1 M5x625.04*-B
Stud bolt

DIN 6912 M8x25
Cheese head screw

Anchor Mullion Down

Thermal insulation spacer 80 177

RIGID INSULATION

Sheet metal Aluminum 1/32" (1 mm)

6" STEEL STUDS 16 GA B.O.

EXPAND THERMAL TAPE

NON-SHRINK GROUT B.O.

HILTI HSA M10x108/37/45
Anchor

MEMBRANE 1/16x5

HILTI HUS-H 3/8x2.63
ANCHOR

BLOCKING

AND BACKER ROD
SEALANT

PLASTIC DRAIN CAP - ET 074605.00

EXTERNAL WEEP

PROFILE - E 40604

(2) GLAZING PAD 2 x 3/16" (5mm)

FRAME - E 45160

ALUMINUM LOUVER FRAME

GASKET - ET 130400.00

ALUMINUM PRESS CORNER

SHEET METAL ALUMINUM 1/16" (1.5 mm)

31" GL DIM
[787 mm]

31" GL DIM
 [787 mm]

6912" R.O.

[1765 mm]

66" M.O.
[1676 mm]

1"
 [25 mm]

1"
[25 mm]

68" FRAME
[1727 mm]

258"

[66 mm]
291116" D.L.O.

[753 mm]

312"

[88 mm]
291116" D.L.O.

[753 mm]

258"
 [66 mm]

16
1 2"
 G

L 
DI
M

 [
41

9 
mm

]

48
3 4"

 G
L 

DI
M

[12
39

 m
m]

16
1 2"
 G

L 
DI
M

 [
41

9 
mm

]

47
7 8"

 G
L 

DI
M

[12
17
 m

m]

31" GL DIM
[787 mm]

3018" GL DIM

[765 mm]

74
" 
R.
O.

[18
80

 m
m]

21 4" [5
7 

mm
]

71
1 4"

 F
RA

ME

[18
10
 m

m]

1 2"
 [
13
 m

m]

25 8"
 [
66

 m
m]

15
3 16
" 
D.
L.
O.

[3
85

 m
m]

31 2"
 [
88

 m
m]

47
7 16
" 
D.
L.
O.

[12
05

 m
m]

25 8" [6
6 

mm
]

1
501.00 2

501.00

2
502.00

4
541.00

2
541.00

1
502.00

1
542.00

1
542.00

138"
 [35 mm]

651116" WINDOW SILL

[1669 mm]
138"

 [35 mm]6812" WINDOW SUBSILL

[1739 mm]

1 8"
 O

VE
RL

AP
 [
3 

mm
]

47
3 16
" 
D.
L.
O.

[11
99

 m
m]

1 8"
 O

VE
RL

AP
 [
3 

mm
]

1
8" OVERLAP

 [3 mm]
29716" D.L.O.

[747 mm]

1
8" OVERLAP

 [3 mm]

1
508.00

1
508.00

31 2"
 [
88

 m
m]

15
3 16
"

[3
85

 m
m]

25 8"
 [
66

 m
m]

25 8"
 [
66

 m
m]

258"
 [66 mm]

312"
 [88 mm]

291116"

[753 mm]

258"
 [66 mm]

77
1 2"
 M

.O
.

[19
69

 m
m]

30
1 2"
 T

O 
T.
O.
S.

[7
75

 m
m]

34
" 
TO

 T
.O
.S
.

[8
64

 m
m]

31 2"
 [
89

 m
m]

15 8"
 [
42

 m
m]

48
" 
CL

 H
AN

DL
E 

FR
OM

 F
FL

 [
12
19
 m

m]

12
1 8"

 C
L 

HA
ND

LE
 F

RO
M 

ED
GE

 O
F 

FR
AM

E
 [
30

8 
mm

]

EXTERIOR
VIEW

35
7 8"

[9
11
 m

m]

81 8"
 C

L 
HA

ND
LE

 F
RO

M 
ED

GE
 O

F 
FR

AM
E 

at
 1
1t
h 

an
d 

12
th

 f
lo
or

s
 [
20

7 
mm

]

GL2
W1-2

GL1
W1-2

GL1
W1-3

GL2
W1-3

GL1
W1-1

GL2
W1-1

GL2
W1-3

GL1
W1-3

3
541.00

1
541.00 31 2"

[8
8 

mm
]

1 8"
 S

AS
H 

OV
ER

LA
P

 [
3 

mm
]

D.
L.
O.

D.
L.
O.

5
16"

[8 mm]
1 116"

[27 mm]

1
4"

 [7 mm]
1"

[26 mm]

1
8"

 [3 mm]

3
16"

 [5 mm]

3"
[76 mm]

21 16
"

[5
3 

mm
]

D.
L.
O.

D.
L.
O.

11 2"

[3
8 

mm
]

4"
[102 mm]

4"
[102 mm]

1 116"

[27 mm]

3
16"

 [5 mm]
1"

[26 mm]

1
4"

 [6 mm]

1
8"

 [3 mm]

1
8"

 [3 mm]

3
16"

 [5 mm]

BRICK WALL B. O.

GASKET - ET 130176.00

GLAZING BEAD - E 5325

PERIMETER SEALANT

ADDITIONAL PROFILE - E 40660

GASKET - ET 130131.00

SASH - E 45260

GASKET - ET 130411.00

GLAZING UNIT 1" (26mm)

GLAZING UNIT 1" (26mm)

GASKET - ET 130411.00

PERIMETER EXPAND THERMAL TAPE
(2) GLAZING PAD 2 x 3/16" (5mm)

THERMAL BREAK

HIRIZONTAL MULLION - E 45360

AND BACKER ROD
SEALANT

GASKET - ET 130421.00

THERMAL BREAK

GASKET - ET 130400.00

GLAZING BEAD - E 40606

GASKET - ET 130176.00

2 1
16"

[53 mm]

11516"

[50 mm]

2 1
16"

[53 mm]
D.L.O.

214"

[57 mm]

1916"

[40 mm]

1716"

[36 mm]

15
16"

[24 mm]

1
16" OVERLAP

 [2 mm]

LOUVER OPENING

D.L.O.

11 16
"

[2
7 

mm
]

1 4" [7
 m

m]
1"

[2
6 

mm
]

5 16
"

[8
 m

m]
4
5 16
"

[10
9 

mm
]

3 16
"

[5
 m

m]

4
5 16
"

[10
9 

mm
]

3 16
"

 [
5 

mm
]

7 8"

[2
2 

mm
]

5 16
"

 [
8 

mm
]

21
1 16
"

[6
8 

mm
]

5 16
"

[9
 m

m]
41 2"

[11
4 

mm
]

11 2"

[3
8 

mm
]

5 16
"

 [
8 

mm
]

41 2"

[11
4 

mm
]

21
1 16
"

[6
8 

mm
]

ALUMINUM SHEET SILL

GLAZING PAD 2 x 3/16" (5mm)

Aluminum box 2 15/16' x 1 9/16"

EDGE OF WINDOW SILL BELOW

RECEPTION PROFILE BELOW

DIN 125-A M8
Plain washer

DIN 934 M8
Thin nut

HILTI HSA M10x108/37/45
Anchor

GASKET - ET 130176.00

FRAME - E 45160

ADDITIONAL PROFILE - E 40660

GLAZING BEAD - E 5325

PERIMETER EXPAND THERMAL TAPE

GASKET - ET 130176.00

GLAZING UNIT 1" (26mm)

GASKET - ET 130411.00

THERMAL BREAK

Gasket - ET 130453

VERTICAL MULLION

EDGE OF CONCRETE SLAB BELOW

EDGE OF ALUMINUM SHEET SILL

THERMAL BREAK

GASKET - ET 130400.00

ALUMINUM PRESS CORNER

Sheet metal Aluminum 1/16" (1.5 mm)

DIN 7504 ST3.5x16-M-Z
Self drilling screw, B.O.

ALUMINUM LOUVER FRAME

GASKET - ET 130176.00

GLAZING PAD 2 x 3/16" (5mm)

EXPANDABLE CLOSED CELL TAPE, B.O

GLAZING BEAD - E 5311

FRAME - E 45160

TAPCON HEX-1/4''x4''
Anchor

HILTI HSA M10x108/37/45
Anchor

GASKET - ET 130176.00

DIN 6912 M8x25
Cheese head screw

DIN 125-A M8
Plain washer

VERTICAL MULLION

PTAC SLEEVE B.O.

2
11 16
"

[68
 m

m]
5 16
"

 [8
 m

m]

1"
[26

 m
m]

15 16
"

[34
 m

m]

25 8"

[67
 m

m]

1 4"  [7
 m

m]
1" [26
 m

m]

15 16"

[34
 m

m]

2 1
16 "[53 mm]

D.L.O.

21 8"

[53 
mm]

D.L.
O.

11
5
16
"

[50 
mm]

4
1
8"

[104
 mm

]

1 1516 "[50 mm]

4 3
16 "[106 mm]

4
1 2"

 [1
14
 m

m]

1 2"
[13

 m
m]

41 2"

 [1
15
 m

m]

1 916 " [40 mm]

2 1
4 "[57 mm]

1916
"

 [40
 mm

]

2
1
4
"

[57 
mm]

25 8"
[66

 m
m]

1 2"
[13

 m
m]

4
5 16
"

[10
9 
mm

]

Sheet metal Aluminum 3/32

RECEPTION PROFILE BELOW

DIN 934 M8
Thin nut

DIN 6912 M8x25
Cheese head screw

GASKET - ET 130424

HILTI HSA M10x108/37/45
Anchor

Self drilling screw DIN 7504 ST4.2x16-M-Z

ADDITIONAL PROFILE - E 40660

GLAZING BEAD - E 5325

GASKET - ET 130177

GLAZING UNIT 1" (26mm)

GASKET - ET 130411.00

PERIMETER EXPAND THERMAL TAPE

FRAME - E 45160

GASKET - ET 130453

THERMAL BREAK

TUBULAR PROFILE E 45655

GASKET - ET 130176

ALUMINUM SHEET 2mm

DIN 934 M8
Thin nut

DIN 125-A M8
Plain washer

NORTON TAPE 6x9

GASKET - ET 130411.00

THERMAL BREAK

GASKET - ET 130453

VERTICAL MULLION

TUBULAR PROFILE E 45655

GASKET - ET 130176

Sheet metal Aluminum 3/32

RECEPTION PROFILE BELOW

DIN 6912 M8x25
Cheese head screw

DIN 125-A M8
Plain washer

DIN 934 M8
Thin nut

GASKET - ET 130424

Self drilling screw DIN 7504 ST4.2x16-M-Z

ADDITIONAL PROFILE - E 40660

GLAZING BEAD - E 5325

PERIMETER EXPAND THERMAL TAPE

GASKET - ET 130177

GLAZING UNIT 1" (26mm)

FULL SCALE
VERTICAL MULLIONS WITH FIXED GLASS AT CORNER1

2 1
16"

[53 mm]

1
16"

 [2 mm]

31116"
[93 mm]

1916"
[40 mm]

238"
[60 mm]

1516"
[34 mm]

11516"
[50 mm]

2 1
16"

[53 mm]

1 916"
[40 mm]

318"
[79 mm]

214"
[57 mm]

D.L.O.

D.L.O.

21
1 16
"

[6
8 

mm
]

4
5 16
"

[10
9 

mm
]

3 16
"

 [
5 

mm
]

1
16"

[2 mm]
212"

[64 mm]

1
16"

 [2 mm]

11516"
[50 mm]

2 1
16"

[53 mm] LOUVER OPENING

1 2"
 [
12
 m

m]

1
2"

 [13 mm]

21116"

[68 mm]

12
1 16
"

[3
07

 m
m]

11
16"

 [17 mm]

21
1 16
"

[6
8 

mm
]

3 16
"

 [
5 

mm
]

4
5 16
"

[10
9 

mm
]

1 2"
 [
12
 m

m]

3 8" [10
 m

m]

17 16
"

[3
6 

mm
]

7 8"

[2
2 

mm
]

5 16
"

[8
 m

m]
1"

[2
6 

mm
]

15 16
"

[3
4 

mm
]

DIN 125-A M8
Plain washer

DIN 6912 M8x25
Cheese head screw

GASKET - ET 130176.00
FRAME - E 45160

HILTI HSA M10x108/37/45
Anchor

ADDITIONAL PROFILE - E 40660
Self drilling screw DIN 7504 ST4.2x16-M-Z

GLAZING BEAD - E 5325
PERIMETER EXPAND THERMAL TAPE

CONTINUOUS SEALANT

GLAZING UNIT 1" (26mm)

GASKET - ET 130177
GASKET - ET 130411.00

THERMAL BREAK
CONTINUOUS SEALANT
Gasket - ET 130453

EDGE OF CONCRETE SLAB BELOW
VERTICAL MULLION

Gasket - ET 130453

VERTICAL MULLION

DIN 125-A M8
Plain washer

Anchor Mullion Down

GASKET - ET 130176.00

Self drilling screw DIN 7504 ST3.5x13-R-Z

HILTI HSA M10x108/37/45
Anchor

ADDITIONAL PROFILE - E 45655

ALUMINUM SHEET 1/16

THERMAL INSULATION

Sheet metal Aluminum 3/32

Reception profile

Thin nut

Edge of flooring B.O.

VERTICAL MULLION
PTAC SLEEVE B.O.

DIN 125-A M8
Plain washer

DIN 934 M8
Thin nut

Anchor Mullion Down
GASKET - ET 130176.00
CONTINUOUS SEALANT
FRAME - E 45160

HILTI HSA M10x108/37/45
Anchor

GLAZING BEAD - E 5311
GASKET - ET 130176.00
ALUMINUM LOUVER FRAME

Sheet metal Aluminum 1/16" (1.5 mm)

ALUMINUM PRESS CORNER
GASKET - ET 130400.00
CONTINUOUS SEALANT
PERIMETER EXPAND THERMAL TAPE
THERMAL BREAK
Gasket - ET 130453
EDGE OF CONCRETE SLAB BELOW
VERTICAL MULLION

Gasket - ET 130453
Rivet DIN 7337

ADDITIONAL PROFILE - E 45655
ALUMINUM SHEET 1/16

GASKET - ET 130176.00

Scale: 6" = 1'-0"
VERTICAL MULLIONS AT A CORNER WITH FIXED GLASS AND LOUVER OPENING2

PAGE 42

ST
UD

IO
 CA

D
PAGE 43

DESIGN PORTFOLIO

http://eurowindowsystems.com/
https://www.studio-cad.com/portfolio-2/14305-river-road-united-states/

